Opérations avec deux fractions mixtes (H)

Date:

Calculez chaque résultat.

Nom:
1 5z ~3z =
3
2 5% ~1=- =
3 5% - 31i7 =
4 lg X 5% =
5 1% X 5% =
6 5% X 1% =
7 5% — 5% =
8 5% + 2% =
9 5% + 22 =
10. 5% — 3126 =

Note:
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Opérations avec deux fractions mixtes (H) Réponses

Nom: Date: Note:

Calculez chaque résultat.

17 11 17 2 34 1

L 33Ty T 3T T3 T o T g
1 1 11 10 11 9 99 19

2 5 g =559 55X 7 0 T4

1 _4 11 55 11 17 _ 187 17
N 110 10 10

L 13xsl o3 I 143 ds
8 2 8 2 16 16
1 1 5 11 55
5 11)(55 = in = ? = 6—
1 1 11 10 110 55 1
o Xy =5Xg = g T 9 T8
3 1 23 16 69 64 5
7. 5= —5- = =~ __— = —_— = =
4 3 4 3 12 12 12
2 1 17 7 17 7 24 8
- 42— = —4 - = —4F - = — = - =
s 93123 3 73 3 73 3 1 8
2 5 17 17 34 17 51 17
9 5§+26 = —+€ = —+€ = ? = 7 = 8=
) 16 2 16 16 16 16 = 16
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